[{]—Adaptive Plot
[F]—CSspline

[El—cspline

MaxIters:=100

X:=[1..25] (CS Interpolation]
. 5 T T T

f(x)::51n[ln[x +4]] L )
m=cs,(x, £(x)) |
p(x):=Cs (M, x)

f(x)40.05 0k
II:= p(x)

augment[Ml,Mz, "."]

R

[a::l b::25]

ln[x5—|—4]]
M:=CS, (f, a, b)

f(x):=sin

P (X):: cs (M, X)

f(x)40.05
II := p(X)
t M M "."
augmen[ Y
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[El—Adaptive Plot Test
Adaptive Plot Cartesians: f(x)=x4+i-f(x)
Polars: p(@):p(@].eile
Parametrics: z(t)=x(t)+1i-¥(t)
z(t):=2-cos(5-t)4+1i-sin(7-t) y

Z .= APlot (z, 0, 2-n]




f(x)=x41i.x.cos(18.x)
Z:=APlot (£, 0, 5) 4

o
=

.o
p(@)::2-005(7-6)-el 5 Y
Z:=APlot (p, 0, 2-m)
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[Fl—cCsSpline Diff & Int
CS Interpolation: X:=[1,1.5..12 P
Diff & Int P [1/ ' ] M::CSV[X,f(X)] [a b]=[3.19.1]

(X)::51n[1—ln(x)]
p(x):=Cs (M, x) [ab]::[min(x)max(x)]
f(a)=—0.131 p(a)=—0.131
f(b)=-0.935 p(b)=-0.935
Y
CS_ (M =—-0.
9 (a)=—0.9198 o (M, a)=-0.3199 .
da
CS_ (M, b)=—-0.
4 f(b)=-0.039 o (Ms P)=-0.039
db
cs. (M, a)=0. X
4 9 f(a)=o0.1168 pz (M, @) =0.1175
dada =
CS M, b)=0.0156
4 9 f(p)=0.0156 oz (M ) =
dbdb 0 2 4 6 8 1 12
£(x)
CSI (M, a, b)=—3.9773 augment (Ml’MZ’ "o")

(x)dx=-3.9742
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